2005

2006 1

1999
2005

100

501

19

2005

12



2005 12 2006 1 - -
4 -
2006 4 27
98.72 386 100.0 110
97.44 100.00
i
1 19
\%
4.09 4.09 4.06 05 19
4.20 4.21 4.16 19
4.22 4.24 4.14
4.09

4.43



80

4.55 16
4.52 4.50

3.02
3.35

3.0

GP

FD FD



FD

GP



02005

m 2005

-
©

=
oo

|
~

[y
(2]

=
a1

H
~

=
w

[Eny
N

[
|

(BN
o

= N W B~ 01 OO N 0 ©

0.00

1.00

2.00

3.00

4.00

5.00




02005

W 2005

=
©

[EY
[00)

[N
\l

[N
(o2}

[N
a1

[EEN
SN

=
w

[E=N
N

[ERN
[ERN

[N
o

PN Wb 010 N 00 ©

0.00

1.00

2.00

3.00

4.00

5.00




